135 RS- FHFieARMBFRFIL (F1%104.1.21)

- S FE T IIrIE

R4 E/éfrgdjr]fhaﬁér’k A ko At @?{Eﬂ"ﬂ? R e 0 FE T VW i‘ﬂﬁ%?&“
Aﬁ{ﬁ%*‘**@ﬁ/zﬁk"}7"“:&@@’?\4&15"/“”’:}”:{/\
BeAE TR CHBKIFRE LS I VTET

3 AFER ST 3P S RIS H T S
S F R FIITR| 40T

W

Iy

@ 1i- : AlZP#- ASEE 7 N
@ = Cai%ig
@ :r : D3FR &3t Dok ¥ b LjiF

HEmBIIEP LT R & R~



103 FEE _—_RPREB LM EEFARIE R —NW®(103.1.21)

AT
.| s Bkl 47 |42 P R . Biliy
1} & ¥ P2 _ =%, R
W ABEF | g | CEEE mg) (5 o) (ke F i,
AL | 5w |#Ehd | we e T3 00| 8 |14 | 20 [fBHZ" 0
A2 | wREEI |%EE| ki 000 31 |14 | 20 [mZ=- iergEsevs & | 0
A3 [ p Dae| g 22| MLE T3 |5 12000 1 [11] 15 [pps 0
0w - )
Ad | EspAs [Axar f"f'; o S| o0l 22 | 14| 20 [ e s g 0
D
A5 | e |4Rbn| Ak S 14| 0 11 | 14| 20 |m=m 6
A6 wsp |zea| #mars | )| 120 10 [12] 15 [ 5
B B 5 PR
A7 | £ |S45% | s 12000 13 | 11| 15 (R EBEHMTSE | 0
Vo
B1 g Ews| pE e 1,286 23 |11 | 15 |m==. sgemssov 2 4 0
B2 T e Fryn | 1,286) 18 | 11| 15 |pes a2 4 0
= 3
B3 | I#F |t ,EER = | 2572 12 | 7| 10 |mEzEs sk s £ 0
= Rz 1 (2
B4 New Jazz |#%% &| $HEKZ P 965 47 | 14 | 20 (BHTE MRSV 3 f 0
B5 | @h#is |H6s e s | 965| 15 |14 | 20 |ps 5
BHZ= 51— v FEGES
B6 | Eiwissr [£%F |  ppa 1286 17|11 | 15 MR T SE | O
2V o
c1 Jg | EIE 4| mEE 965 17 | 14 | 20 [gz= 3
c2 ¢ |2ard| wEFE || 1,286 17 | 11| 15 [T v L |0
C3 e (BEF| @mETm gi% 965 13 | 14 [ 20 |Rz= 7
C4| mekg (247 |mMofsETz ‘15) 1286 2 [11| 15 [Fmuoe 0
> o - % - o
5| g4+ |31% ;f%;% , 2572| 10 | 7 | 10 |m= 0
D1 | MVDANCE | %% %| &%z 065 46 | 14 | 20 |Bz=, HyEEsE 3 ¢ 0
R
D2 | Ask(rpsr) | ik | HHEH 5| 1608 11| 9 | 12 WU EREHEACSH |0
7 2V e
D3| #R <8 |H4w|@gp e T3 p%% 2572 3 | 7 | 10 [fHEE 0
5 v NN — ¥
Da | grBsr [ga| hL S0 15) 065 27 | 14| 20 = w3 4 | 0
=
D5 | Eienssr |$77 | g 1,286) 10 | 11| 15 |m== 5
D6 |hskif b jie| 3 S 2| ML s T 3 1286 4 | 11| 15 [fpos 0
EL | 4 |Miaes| MUfe T3 00| 12 | 14 | 20 [gz= 8
E2 | R |tkmde| ercs S 2| 900] 9 |14 | 20 |mEs 11
z T T
E3 | E3R(GeFF5L) |2 iFd | HFFLT B Pf::% 1,500 16 | 9 | 12 iﬂﬂﬁﬁ  BREHIATSNR | 0
— F ’V o
— 14
TE77 oaal WE ; -
E4 | % o |FE@E| 4 f ?I‘% %) | 2200 8 | 7] 10 |g== 2
E5 ik 3] U RERZE 1,200f 8 | 11| 15 |f7=




